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Real02 Answers for No.9363

A=[r=19]
_|.2=[r=-10]
Ansl = 3=[r=-5]
A4=[r=T]

Real02 Answers for No.9435

A=[r=15]
|.2=[r=-14]
Ansl = 3=[r==2]}

A=[r=1]

Ans2 =

Ans2 =

A=[m=-1]
2=[m=6] B
3=[m==2] | Ans3 =

A=[m=1{-7,5}]

d=[m=-3]

2=[m=-5] -
Se[m={-611]) 3=

A=[m=2]

I=(x-1)(x+1)(x=2)
2=(x-3)(x+3)(x—-4)(x+4)
3=(x+3)(x*-3x+9)
4=(x=2)(x+2)(xX*+4)
S=(x+3)(x—-1)(X*—4x+2)
O=(x+4)(x+3)(x—-1)(x-3)
J=(x=-3)Bx+1)(5x+1)

LE=(x—-1)(x+1)(2x+1)(4x+5)]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK X KKKKKXKKKMAL /2-640

A=(x-1)(x+1)(x-5)
2=(x=3)(x+3)(x=4)(x+4)
B=(x+1)(xX=x+1)
d=(x=2)(x+2)(x*+4)
S=(x+5)(x+4)(x+1)(x-3)
6=(x+2)(x=3) (X +3x+1)
TJ=(x+1)2x-1)(5x-1)

L8=(x+3)(x+1)(3x+2)(2x—1).
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Real02 Answers for No.9484

A=[r=-2]

| 2=[r=4]
Ansl = 3=[r=5]]
A=[r="7]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK LXK KKK KKK KKK KKK KKK XKKXKKKME /2-6400104-00004XX

Real02 Answers for No.9503

d=[r=20]
| 2=[r=3]
Ansl = 3=[r=-1]
4=[r=2]

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXKKKKXKXXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KK KKK KKKKKK

Ans2 =

Ans2 =

d=[m=1]
2=[m=-12]
3=[m=6] |

A=[m={-4,-3}]

d=[m=0]

2=[m=-2]

3=[m=9] |
d=[m={-7,-1}]

Ans3 =

I=(x=3)(x+3)(x+5)
2=(x-1)(x+1)(x=5)(x+5)
3=(x+3)(x*-3x+9)
4=(x=5)(x+5)(x*+25)
S=(x+3)(x+2)(x*=5x+2)
O=(x+6)(x+2)(x+1)(x—2)
J=(x+2)(2x-1)(4x-3)

Ans3 =

LE=(x+1)(x-2)(3x—-5)(4x+1)]

A=(x-1)(x+1)(x-5)
2=(x-4)(x+4)(x-5)(x+5)

3=(x+5)(x*=5x+25)

4=(x=3)(x+3)(xX*+9)
S=(x+5)(x+2)(x—-1)(x—-6)
6=(x+3)(x+1)(xX*=2x+2)

T=(x-1)3x+5)(5x-2)

L8=(x+1)(x—=2)(4x-5)(4x—-1)]
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Real02 Answers for No.9630

A=[r=12]
| 2=[r=9]
Ansl = S=[r=1]}

A4=[r=-2]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK LXK KKK KX KKK KKK KKK KKXKKKME /2-6400104-00006XX

Real02 Answers for No.9647

d=[r=2]
|.2=[r=20]

Ansl = 3=[r=-5]
4=[r=5]

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX KKKKXKKXKKKKKKK XXX XXX KKK KKK KKK KK KKK KKK KKK KKKKKKK

Ans2 =

d=[m=-5]

2=[m=-2]

3=[m=0] |
A=[m=1{5,6}]

d=[m=-3]
2=[m=-16]
3=[m=-6] |

d=[m=1{-6,-5)]

Ans3 =

Ans3 =

LE8=(x-3)(x+1)(5x+3)(4x+1)]

L8=(x+1)(x+2)(Sx+4)(4x+1).

A=(x-2)(x+2)(x+3)
2=(x-3)(x+3)(x=5)(x+5)
3=(x-2)(x*+2x+4)
4=(x-2)(x+2)(x*+4)
S=(x+2)(x-1)(xX*=5x+1)
O=(x+3)(x+2)(x+1)(x-3)
J=(x+1)(5x+2)(2x-3)

A=(x-2)(x+2)(x+3)
2=(x=2)(x+2)(x=3)(x+3)
3=(x+4)(x*—4x+16)
4=(x=5)(x+5)(x*+25)
S=(x+6)(x+5)(x+2)(x—1)
b=(x-1)(x=3) (X" +5x+2)
T=(x+1)(2x-3)(5x+6)

TNCEX®s~2 X

TNCEX®s~3 B
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Real02 Answers for No.9779

A=[r=1]
|.2=[r=10]
Ansl = 3=[r=6]
A4=[r=-3]

Real02 Answers for No.10293

d=[r=16]

| 2=[r=-6]
Ansl = 3=[r=-71
A=[r=-2]

Ans2 =

A=[m=-5]
2=[m=-15] B
3=[m=0] , Ans3 =
=[m={-7,-4}]

d=(x-4)(x+4)(x-5)
2=(x-1)(x+1)(x—-4)(x+4)

3=(x-1)(x"+x+1)
4=(x=2)(x+2)(xX*+4)
S=(x+4)(x-1)(x=3)(x=4) [
H=(x+3)(x=1)(x*=x+1)

J=(x+1)(2x+1)(3x-5)

A=[m=16]
2=[m=0] B
S=[m=1] | Ans3 =

A4=[m={1,4}]

L8=(x+1)(x—=2)(2x-5)(5x—-1)]

A=(x-4)(x+4)(x-3)
2=(x=3)(x+3)(x—4)(x+4)
3=(x—4) (X" +4x+16)
4=(x=5)(x+5)(x"+25)
S=(x+6)(x+2)(x+1)(x—-2)
6=(x+3)(x+2)(X*=5x+1)

T=(x-2)(5x+2)(3x-1)

| 8=(x—1)(x+3)(5x—2)(4x-5)]

TNCX®@=~2 X
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Real02 Answers for No.10311

Real02 Answers for No.10438

A=[r=17]
|-2=[r=-3] B
Ansl = S=[r=1]! Ans2 =

A4=[r=3]

A=[r=-4] A=[m=4]
|.2=[r=-7] B 2=[m=0]
Ansl = 3=[r=2]f Ans2 = 3=[m={-6,4}]"

A4=[r=-4] A4=[m=-4]

d=[m=-4]
2=[m=-12]
3=[m=3]

A=[m=1{2,-1}]

b

Ans3 =

Ans3 =

S=(x-1)(x+1)(5x+4)(4x—-5)]

I=(x=2)(x+2)(x—4)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x+3)(x*-3x+9)
4=(x—4)(x+4)(x+16)
S=(x+2Y (x+1)(x=2)
6=(x-2)(x=3) (X +4x+2)
J=(x+1)3x=5)(3x+2)

A=(x-5)(x+5)(x—-4)
2=x-1)(x+1)(x=5)(x+5)
3=(x+2)(X*=2x+4)
d=(x-1)(x+1)(x*+1)
S=(x+4)Y(x+2)(x+1)
b=(x+2)(x-1)(x*+5x+1)

TJ=(x-1)(2x+3)(3x+5)

| 8=(x—1)(x+2)(5x+3)(3x—1).

TNQOX®@ >~ XD
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Real02 Answers for No.11352
A=(x-5)(x+5)(x-3)
2=(x-3)(x+3)(x—-4)(x+4)
3=(x—4)(x*+4x+16)
2=[m=0] s = 4=(x=5)(x+5)(x*+25)

3=[m=0] 7 S=(x+6)(x+2)(x+1)(x-2)
A=[m=1{-3,4}] 6=(x+3)(x-1) (X +5x+2)
TJ=(x+2)3x+4)(5x-2)

LE=(x—-2)(x-3)(2x—-1)(4x+5)]

A =[r=-13] A=[m=4]

| 2=[r=-2] B
Ansl = 3=[r=3] | Ans2 =

A4=[r=5]

TNSX®@>~2 XD
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| 8=(x+3)(x=2)(4x+1)(5x+3)]

Real02 Answers for No.11778
:D
A=(x-5)(x+5)(x+2) M
2=(x-2)(x+2)(x—4) (x+4) a
d=[r=15] d=[m=-2] 3=(x+2)(xX*=2x+4) t
_|2=[r=-1] _| 2=[m=0] _ A=(x-4)(x+4)(x*+16) h
A= e M e, YT i o) (Pdxs ) [ | @
A=[r=5] A=[m=-23] b6=(x+4)(x-1)(x-2)(x-5) M
T=(x-2)(5x-2)(3x+1) U
T
:D

I
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Real02 Answers for No.12403

A=[r=19]

| .2=[r=-9]
Ansl = 3o[r=4] |
4=[r=-6]

Real02 Answers for No.12456

A=[r=17]

| 2=[r=3]
Ansl = 3=[r=-5]]

A4=[r=-5]

Ans2 = 3

d=[m=4]
2=[m=-15]
=[m={-5,-2}1/

4=[m=0]

d=[m=2]
2=[m=-4]

T 3=m=12,6110

4=[m=24]

Ans3 =

Ans3 =

A=(x-2)(x+2)(x+3)
2=(x-2)(x+2)(x—-4)(x+4)
3=(x+3)(x*-3x+9)
d=(x-1)(x+1)(x*+1)
S=(x+3)(x+2) (X +4x+1)
O=(x-1)(x-2)(x-3)(x-95)
J=(x+2)(5x+3)(4x+1)

L8=(x—1)(x+3)(4x-1)(3x+4)]

A=(x-5)(x+5)(x+2)
2=(x=2)(x+2)(x—4)(x+4)
3=(x-2)(+2x+4)
4=(x=5)(x+5)(x*+25)
S=(x+5)(x+3)(x+2)(x+1)
6=(x+2)(x=1) (X" +x+2)
J=(x-1)(5x-6)(4x+5)

L8=(x-2)(x=3)(2x-3)(5x+2).
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TNCX®@=~2 X

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KX KKK KK KKK XKKXKKKME /2-6400104-00014XX

TSNS~ X

T
L

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XKKKKKXXXXKKKKKKX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKKKKKK



Real02 Answers for No.12545

A=[r=6]

|.2=[r=-2]
Ansl = S[r=-1]f

A4=[r=-3]

Real02 Answers for No.12583

A=[r=-3]

| 2=[r=T7]
Ansl = 3=[r=7]f
A4=[r=-6]

Ans2 =

A

ns2 =

d=[m=0]
2=[m=-4]

3=[m=1{3,1}]]

4=[m=-2]

J=[m=6]
2=[m=0]
3=[m=10]

A=[m=1{-4,7}]

b

Ans3 =

Ans3 =

d=(x=3)(x+3)(x+1)
2=(x-2)(x+2)(x—4)(x+4)
3=(x=-5)(x*+5x+25)
Ad=(x-1)(x+1)(x*+1)
S=(x-2)(x=-3)(x*+x+2)
O6=(x+2)(x-1)(x—=3)(x—06)
J=(x=2)(4x-1)(3x—4)

L8=(x+2)(x—-2)(2x+1)(5x—4)]

A=(x-3)(x+3)(x—4)
2=(x-2)(x+2)(x=5)(x+5)
3=(x-2)(x*+2x+4)
d=(x=2)(x+2)(x*+4)
S=x+1)(x-2)(x-4)(x-6) |
H=(x+1)(x=2) (X +4x+2)
J=(x+2)(3x+4)(2x+3)

L S8=(x-1)(x+1)(5Sx+1)(2x-3)]

U
T
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Real02 Answers for No.12589

A=(x=-5)(x+5)(x-3)
2=(x-1)(x+1)(x-3)(x+3)

d=[r=12] d=[m=5] 3=(x-4) (X" +4x+16)
|.2=[r=-4] | 2=[m=3] A== (x+ D) (X7 +1)
AT 5o r=sy ) M2 o= 3] T sor) e ) (Padxa ) [
4=[r=-4] 4=[m=-8]

O=(x+1)(x-2)(x-3)(x—4)
T=(x-1)(3x-5)(2x-5)
L 8=(x+1Y(GBx+1)(2x-5) ]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXXXXME /2-6400104-00018XX
Real02 Answers for No.12596

SNQE® =~ X F

A=(x-1)(x+1)(x—-2)
2=(x-4)(x+4)(x=5)(x+5)

d=[r=2] d=[m=-2] 3=(x+2)(xX*=2x+4)
|.2=[r=20] | 2=[m=0] B 4=(x-5)(x+5)(x+25)
Anst= s _te=ay b A2 o tm=12, 5010 AT sopan - )2y (x-4) |
A4=[r=-5] 4=[m=3]

Gb=(x—1)(x=3) (X" +4x+2)
T=(x+3)2x+1)(5x+4)
[ 8=(x—1)(x+2)(4x+5)(2x+1).

SNCEX®s=~23 B

I
L

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKXXKKKKKKK XXX XXX KKK KKK KKK KKK KK KKK KK KKK KKKKKK




Real02 Answers for No.12620

1=[r=28]
|.2=[r=10]
Ansl = S[r=-71)
4=[r=-3]

Real02 Answers for No.12651

d=[r=-17]
| 2=[r=-5]
Ansl = 3=[r=-717
A4=[r=2]

Ans2 =

Ans

2_

d=[m=-5]

2=[m=-5]

3=[m=3] |
A=[m={-1,2}]

I=[m=0]
2=[m=4]

1 3=[m=1{-1,5}]]
d=[m=-1]

Ans3 =

Ans3 =

S=(x-1)(x+1)(5x-6)(3x+4)]

I=(x=3)(x+3)(x—4)
2=(x-2)(x+2)(x=5)(x+5)
3=(x-1) (P +x+1)
4=(x=3)(x+3)(x*+9)
S=(x+2)(x+1)(x¥*=5x+2)
6=(x+2)(x+1)(x—4)
J=(x-1)(2x-3)(4x-5)

A=(x-4)(x+4)(x-2)
2=(x=3)(x+3)(x=5)(x+5)
B=(x-1)(F"+x+1)
d=(x—4)(x+4)(x*+16)
S=(x-2)(x=3) (X" +4x+2)
H=(x+2)(x=1)(x=2)(x=3)
J=(x-1)(5x-6)(4x+1)

L 8=(x-1)(x+2)(2x-5)(3x-2).

BNCEX®@s~2 X
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Real02 Answers for No.12675

A=[r=6]
|.2=[r=-12]
Ansl = 3o[r=d4] |
4=[r=-6]

Real02 Answers for No.12684

d=[r=6]
2=[r=15]
Ansl = 3=[r=31F
4=[r=4]

Ans2 =

Ans2 =

d=[m=4]
2=[m=0] B
3=[m=23] | Ans3 =

A=[m=1{2,7}]

d=[m=0]

2=[m=0] ~
Se[m={-1.611 3=

A=[m=4]

A=(x-5)(x+5)(x+2)
2=(x-1)(x+1)(x-2)(x+2)
3=(x+2)(xX*=2x+4)
4=(x=2)(x+2)(xX*+4)
S=(x+2)(x-1)(x*-x+2)
O=(x+4)(x-1)(x-2)(x—4)
J=(x=-3)(5x-1)(3x-2)
LE=(x+1)(x-2)(4x+3)(5x-3)]

A=(x-4)(x+4)(x+2)
2=(x-1)(x+1)(x=3)(x+3)
3=(x+4)(x*-4x+16)
Ad=(x-2)(x+2)(x"+4)
S=(x+3)(x+2) (X +x+2)
b=(x+4)(x+1)(x=2)(x—6)
J=(x+1)3x—-1)(3x+4)

L8=(x=-3)(x+1)(2x+3)(3x—4)]

TNCX®@=~2 X
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Real02 Answers for No.12693

A=[r=-7]

| 2=[r=75]
Ansl = 3=[r=-51F

4=[r=-5]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XKKXKKKME /2-6400104-00024XX

Real02 Answers for No.12705

d=[r=-8]
|.2=[r=-19]

Ansl = 3=[r=5] [
A4=[r=5]

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXKKKKXXXKKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKK KKK KKKKKK

Ans2 =

d=[m=-4]
2=[m=1]

| .3=[m=1{-4,-3}]

4=[m=-2]

d=[m=-5]

2=[m=0]

3=[m=10]
d=[m={-1,3}]

9

Ans3 =

A=(x-2)(x+2)(x-5)
2=x-2)(x+2)(x=3)(x+3)
3=(x+2)(xX*=2x+4)
4=(x=5)(x+5)(x*+25)
S=(x-1)(x=-3)(x*-x+1)
O=(x+1)(x=-2)(x—=3)(x—-95)
J=(x-1)2x-1)(3x-2)

Ans3 =

L8=(x—-1)(x—=2)(3x—-1)(3x+4)]

A=(x—-4)(x+4)(x+5)
2=(x-1)(x+1)(x=4)(x+4)
3=(x-1)(F+x+1)
4=(x=5)(x+5)(x*+25)
S=(x+3)Y(x-1)(x-4)
H=(x+3)(x+2) (X’ +4x+2)
TJ=(x-3)2x+1)(5x+3)

L 8=(x-3)(x+1)(5x—4)(3x-2).

TNCX®=~2 X
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Real02 Answers for No.12708

Real02 Answers for No.12709

A=[m=0]

2=[m=0] B

3=[m=8] | Ans3 =
A4=[m=1{2,6}]

d=[m=4]

2=[m=-2] Ans3 =

b

3=[m=1]
A=[m=1{3,5}]

d=(x=-3)(x+3)(x=5)
2=(x-1)(x+1)(x—4)(x+4)
3=(x-4)(x*+4x+16)
d=(x-1)(x+1)(x*+1)
S=(x+2)(x+1)(x*+3x+1)
O=(x+3)(x+2)(x+1)(x-5)
J=(x=3)(4x+5)(3x=2)

LE8=(x—-1)(x+1)(3x+4)(3x+5)._

A=(x-5)(x+5)(x-3)

2=x-1)(x+1)(x=3)(x+3)
3=(x+1)(x*-x+1)

4=(x—-4)(x+4) (X" +16)

b=(x+5)(x+2)(x+1)(x-2)
J=(x-2)3x—-4)(5x+3)

S=(x-2)(x=-3)(x¥*=5x+2) |

8=(x-2Y(5x-6)(2x-1) |

SNQOX® =~ X

[
L
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T=(x+3)2x+1)(3x+2)
L 8=(x-2YBx+1)(5x=-3) ]

Real02 Answers for No.12718
:D
I=(x=5)(x+5)(x=1) Y
2=(x-3)(x+3)(x—-4)(x+4) a
d=[r=10] d=[m=3] 3=(x=4) (X +4x+16) ¢
| 2=[r=0] | 2=[m=4] | 4=(x=5) (x+5) (¥ +25) h
Anst=l s o 61p 25| 32tm=1] P T 5o - D=5 -6 | @
A4=[r=7] 4=[m={-4,-3}] 6=(x=2)(x=-3)(x**=5x+1) M
U
T
:D
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Real02 Answers for No.12720
A=(x-1)(x+1)(x+3)
2=(x-3)(x+3)(x=5)(x+5)
3=(x=3)(xX"+3x+9)

I=[r=2] J=[m=-3]
|.2=[r=-6] | 2=[m=0] _ A=(x-1)(x+1)(x*+1)
AT s lr=6l) T e 15 T oo ) (a2 (R aa )

A=[r=-2] A4=[m=-6] G6=(x+5)(x+2)(x+1)(x-6)

TJ=(x+2)(3x-2)(2x-5)
LE8=(x—-1)(x+2)(3x+1)(4x—-1)]

SNQOX® =~ X
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Real02 Answers for No.12726

A=[r=-11]

| .2=[r=10]
Ansl = Se[r=-1]
4=[r=3]

Real02 Answers for No.12758

d=[r=20]

| .2=[r=-6]
Ansl = 3=[r=-71
4=[r=-3]
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Ans2 =

Ans2 =

A=[m=0]
2=[m=4]
d=[m=-4]

A=[m=1{-5-3}]

d=[m=-4]
2=[m=0]
3=[m=0]

A=[m=1{-571}]

9

b

Ans3 =

Ans3 =

I=(x=1)(x+1)(x=2)
2=(x-1)(x+1)(x—4)(x+4)
3=(x+3)(x*-3x+9)
4=(x=5)(x+5)(x"+25)
S=(x+5)(x+2)(x=1)(x=2)
b=(x+2)(x+1)(X*—4x+1)
T=(x-2)4x+5)(5x-1)

L8=(x=-3)(x+3)(2x+1)(3x+4)]

A=(x-5)(x+5)(x+4)
2=(x-2)(x+2)(x—4) (x+4)
3=(x=5)(x*+5x+25)
Ad=(x-2)(x+2)(x"+4)
S=x+3)(x+2)(x—=1)(x—-95)
b=(x-1)(x=2)(x*-x+1)
J=(x+2)(5x+1)(3x-1)

| 8=(x+1)(x=1)(5x+1)(3x+2).

NS>~ XB
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T=(x=3)(2x+5)(3x+2)
L 8=(x+3)YBx+1)3x+4) |

:D

I=(x=-2)(x+2)(x-1) Y

2=(x-1)(x+1)(x-2)(x+2) a

d=[r=-13] d=[m=-5] 3=(x+2)(x"-2x+4) ¢

| 2=[r=0] | 2=[m=-2] 4= -2)(x+2) (X7 + 4) h
Anst=l 5 124 b Am2=0 3otm=3] P AT soe) - D -2) -3 | @
4=[r=5] A=[m=1{-7,6}] b=(x+3)(x=2) (X" +x+1) M

U

T

:D
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Real02 Answers for No.13628

T=(x+2)(2x+3)(3x+2)
L8=(x-3)(x—-1)(4x—-1)(2x—-1)]

:D

A=(x-5)(x+5)(x+3) M

2=(x-1)(x+1)(x—4)(x+4) u

d=[r=13] I=[m=-4] 3=(x+5)(x*-5x+25) t
|2=[r=-17] | 2=[m=-3] B A=(x-1)(x+1)(x*+1) h
AnsT= s =1y b 250 3-tm=21 T sCGre) - x-2)x-5) [ | @
4=[r=-4] 4=[m={-6,4}] 6=(x-2)(x=3)(x"-2x+2) M

U

T

:D
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L
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Real02 Answers for No.13652

A=[r=3]
|.2=[r=-11]
Ansl = S=[r=-1]]
A4=[r=-2]

Real02 Answers for No.13707

A=[r=-7]

| .2=[r=75]
Ansl = 3=[r=3]"
A4=[r=-1]

Ans2 =

[m=-2]
[m=18]
[m=-8] T
A=[m={-3,4}]

i
2
3

d=[m=4]

2=[m=-2]

3=[m=9] |
A=[m=1{4,6}]

Ans3 =

Ans3 =

d=(x=3)(x+3)(x+5)
2=(x-3)(x+3)(x=5)(x+5)
3=(x—4)(x*+4x+16)
4=(x-3)(x+3)(x*+9)
S=(x+4)(x—1)(x=2)(x—6)
G6=(x+2)(x=1) (X +4x+1)
T=(x=3)(5x+1)(2x+1)

LE=(x—1)(x+3)(3x+1)(2x+1)]

A=(x-1)(x+1)(x-3)
2=x-1)(x+1)(x=-5)(x+5)
B=(x+1)(xX=x+1)
d=(x-2)(x+2)(xX*+4)
S=(x+5)(x+4)(x+3)(x—-1)
b=(x+1)(x=2) (" +4x+1)
T=(x+2)(5x+2)(3x-4)

L8=(x+3)(x=2)(5x+1)(2x+5)]
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Real02 Answers for No.644201

Real02 Answers for No.644202

d=[r=17]
|2=[r=-14]

Ansl = 3=[r=-1]]
4=[r=1]

d=[r=-3] d=[m=3]
|2=[r=-13] | 2=[m=0]

Ansl=\" s 1, Zs1 b A= 3 im=12] |

4=[r=-6] d=[m={-1,3}]

A=[m=0]

| 2=[m=0]
Ans2 = 3=[m=0] |
4=[m=1{5,6}]

Ans3 =

d=(x=2)(x+2)(x+4)
2=(x-2)(x+2)(x-3)(x+3)
3=(x-2)(x"+2x+4)
4=(x-3)(x+3)(x*+9)
S=(x+3)(x+2) (X +5x+1)
O=(x+1)(x-2)(x-3)(x—6)
J=(x-1)3x+4)(2x+5)

Ans3 =

LE=(x+2)(x+1)(2x+3)(3x—-5)]

A=(x-4)(x+4)(x-3)
2=(x-2)(x+2)(x=5)(x+5)
3=(x+5)(x*=5x+25)
d=(x-1)(x+1)(x*+1)
S=(x+5)(x+4)(x+3)(x—-1)
b=(x+1)(x=2) (X" +4x+2)

J=(x+3)3x+2)(5x+2)
L8=(x-3)(x-2)(5x-6)(2x—1)]

TNCX®@=~2 X
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Real02 Answers for No.644203

d=[r=6]
—[r=17]
r=5]7

Ansl =|" [
[r=T7]

SN
Il

Real02 Answers for No.644204

A=[r=17]
_|.2=[r=18]
Ansl = 3=[r=-6]f

d=[r=-1]

Ans2 = 3

Ans2 =

d=[m=2]
2=[m=-12]
=[m=1{-5.3}1]

A4=[m=-9]

d=[m=0]

2=[m=2]

3=[m=-5]
A=[m=1{-561}]

Ans3 =

d=(x-1)(x+1)(x-5)
2=(x-1)(x+1)(x=5)(x+5)
3=(x=5)(x*+5x+25)
4=(x-3)(x+3)(x*+9)
S=(x+3)(x+2)(¥*=5x+1)
6=(x+3) (x+1)(x=3)
T=(x+3)(5x+6)(3x+1)

Ans3 =

b

LE=(x+2)(x—1)(4x+5)(4x—-1)]

A=(x-2)(x+2)(x+1)
2=(x=3)(x+3)(x=5)(x+5)
3=(x-1)(*+x+1)
d=(x-1)(x+1)(x*+1)
S=(x+1)(x=2) (" +4x+2)
6=(x+1)(x=2)(x=3)(x—4)

=(x+3)2x+5)(2x+1)

L S8=(x+2)(x+1)(4x=5)(5x—1)]

TNCX®@=~2 X
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Real02 Answers for No.644205

Real02 Answers for No.644206

A=[r=14]
2=[r=11]
3=[r=5]7
A=[r=T7]

Ansl =|’ Ans2 =

d=[m=4]

2=[m=-5]

d=[m=-1]
4=[m={1,2}]

1=[m=0]
2=[m=-2]
3=[m=3]

d=[m=1{3,-2}]

Ans3 =

S=(x+2)(x+1)(3x+2)(5x—4)]

I=(x=3)(x+3)(x+2)
2=(x-2)(x+2)(x=5)(x+5)
3=(x-2)(x*+2x+4)
4=(x—4)(x+4)(x"+16)
S=(x+1)(x=2) (X" +5x+1)
GH=(x+1)(x=2)(x—4)
J=(x-1)(5x+1)(3x-5)

A=(x-3)(x+3)(x+5)
2=(x-1)(x+1)(x=3)(x+3)
3=(x+4)(x*—4x+16)
d=(x-1)(x+1)(x*+1)
S=(x+1)(x=-3)(x¥"-2x+2)
6=(x+3)Y(x+1)(x-5)
T=(x+1)(5x+2)(2x+5)

L8=(x+2)(x=3)(5x-3)(2x—-1)]

BNCEX®@s~2 X
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Real02 Answers for No.644207

6b=(x-1)(x-2)(x*"=2x+2)
J=(x+3)(3x+2)(2x-5)
LE=(x-3)(x—-1)(2x+5)(4x+1)_

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XKKXKKKME /2-6400104-00042XX

:D
I=(x=5)(x+5)(x=3) M
2=(x-4)(x+4)(x—=5)(x+5) a

d=[r=19] d=[m=2] 3=(x+4)(x*-4x+16) !
_|2=[r=0] | 2=[m=-1] _ A=(x-1)(x+1) (X +1) h
Ansl = 3=[r=5] | Ans2 = 3=[m=-17] | Ans3 = S (r-2)(x-3)(x-4) | °l@
4=[r=-2] 4=[m=1{-5,6}] M

U

T

D

Real02 Answers for No.644208

A=(x-2)(x+2)(x-5)
2=(x=-2)(x+2)(x=4)(x+4)

d=[r=-5] d=[m=5] 3=(x=5)(xX"+5x+25)
|.2=[r=15] | 2=[m=-16] B 4=(x-5)(x+5)(x+25)
AnsE= s =71 b A2 3o tm= 1211 AT sipa s a3 e (x-3) [
A=[r=17] 4=[m=-14]

Gb=(x+3)(x=1) (X" +x+1)
J=(x-3)3x+1)(4x-1)
[ 8=(x+2)(x+1)(2x+5)(2x-3)]
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Real02 Answers for No.644209

d=[r=-11]
2=[r=-1]
3=[r=6] |
A=[r=-4]

Ansl =

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XKKXKKKME /2-6400104-00044XX

Real02 Answers for No.644210

A=[r=17]

| .2=[r=0]
Ansl = 3=[r=6]f
A4=[r=-4]
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Ans2

d=[m=9]
| 2=[m=3]
| 3=[m=0]

d=[m=1{-42]

d=[m=3]
| 2=[m=0]
T 3=[m=1{4,5}]/
A=[m=12]

2

Ans3 =

Ans3 =

I=(x=5)(x+5)(x+3)
2=(x-3)(x+3)(x—-4)(x+4)
3=(x—4)(x*+4x+16)
d=(x—4)(x+4)(x*+16)
S=(x+3)(x+2)(x=1)(x—4)
6=(x+2)(x=3)(x*"—4x+1)
J=(x+2)(2x-1)(5x-3)

LE=(x+2)(x—-1)(4x+3)(2x+1)]

A=(x-1)(x+1)(x+4)
2=(x=3)(x+3)(x=5)(x+5)
3=(x+5)(x*=5x+25)
4=(x=5)(x+5)(x*+25)
S=(x+3)(x-1) (X +2x+2)
GH=(x+4)(x+3)(x—1)(x=5)
J=(x+1)(5x-6)(3x-5)

L 8=(x+1)(x=1)(3x=2)(2x+3).
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TNCEX®s=~3 B
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Real02 Answers for No.644211

A =[r=-8]

| 2=[r=28]
Ansl = 3=[r=-31

4=[r=3]

Real02 Answers for No.644212

d=[r=4]
|.2=[r=10]
Ansl = 3=[r=-5]
A=[r=-3]

Ans2 =

A=[m=-1]

2=[m=-5]

3=[m=-9] [
A4=[m=1{-5,-4}]

d=[m=-2]
2=[m=0]
3=[m=1{4,6}]]
A=[m=-12]

Ans3 =

Ans3 =

d=(x-2)(x+2)(x=3)
2=x-2)(x+2)(x=3)(x+3)
3=(x-1) (P +x+1)
4=(x-3)(x+3)(x*+9)
S=(x+2)(x+1)(x*—4x+2)
O=(x+4)(x-1)(x—=2)(x—06)
J=(x+2)3x+1)(3x+4)

L.8=(x-3)(x—1)(3x+4)(5x-2)]

A=(x-1)(x+1)(x—4)
2=(x=1)(x+1)(x—4)(x+4)
3=(x-1)(+x+1)
4=(x—-4)(x+4)(x*+16)
S=(x+1)(x=3)(x*-x+2)
Ob=x+5)(x+3)(x—-1)(x—4)
T=(x+2)(4x+5)(4x+1)

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKX XKL XXX KX KKK XKL XKL LKL XKL LXK KKK KKK KKK X KKKKKKKKKMEL /2-6400104-00045XX

| 8=(x+2)(x=3)(3x+4)(4x+1)]
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TJ=(x-3)(5x-2)(4x-1)
LE=(x—1)(x+3)(5x+2)(2x—-5)

Real02 Answers for No.644213
:D
d=(x=5)(x+5)(x—=2) M
2=(x-4)(x+4)(x-5)(x+5) a
d=[r=-5] d=[m=4] 3=(x=5)(x*+5x+25) t
2=[r=-2] 2=[m=5] A=(x-2)(x+2)(x*+4) h
Ansl = Ans2 = Ans3 =
M ==y S=[m=-11 [ 7" S=(x+3)(x+2) (X" +4x+2) | @
A4=[r=1] 4=[m={1,3}] 6H=(x+4)(x+1)(x=2)(x=5) M
U
T
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J=(x-3)(4x-3)(2x+3)
S=(x-1Y(2x-3)(5x+6) |

Real02 Answers for No.644214
:D
A=(x-2)(x+2)(x-5) M
2=(x-3)(x+3)(x—4)(x+4) 4
d=[r=13] d=[m=0] 3=(x+4)(x*-4x+16) ‘
| 2=[r=4] | 2=[m=-3] o 4=(x=3)(x+3) (X7 +9) h
ST 5 =31 M2 s2m=13] P YT sor)(m3) (Pdxr) | | @
A4=[r=2] A=[m=1{-5,-4}] 6=(x+5)(x+2)(x—1)(x=5) M
U
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A=[r=-7]
|.2=[r=-2] B
Ansl = 3=[r=-5]F Ans2 =

A4=[r=5]

A=[r=17]
| 2=[r=-1] 3
Ansl = 3=[r=5] [ Ans2 =
A=[r=17]

d=[m=-12]
2=[m=3]

3=[m=1{-7,6}1[
A4=[m=-3]

d=[m=0]
2=[m=-2]

3=[m=1{56}1[
A=[m=-2]

Ans3 =

Ans3 =

d=(x=-2)(x+2)(x=3)
2=(x-3)(x+3)(x=5)(x+5)
3=(x-3)(x*+3x+9)
4=(x—4)(x+4) (X" +16)
S=(x+2)(x+1) (X +4x+2)
Oo=(x+1)(x-2)(x—=3)(x—-95)
J=(x+1)(3x+4)(4x-3)

| 8=(x—1)(x=2)(4x+1)(2x-5).

A=(x—-4)(x+4)(x+1)
2=(x-1)(x+1)(x=2)(x+2)
3=(x+4) (X’ —4x+16)
A=(x-1)(x+1)(xX*+1)
S=(x-1)(x=-3)(F*+5x+1)
G6=(x+2)(x=1)(x=5)(x—6)
T=(x+2)(4x-3)(5x+3)

| 8=(x-3)(x=2)(3x+1)(4x+5).
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J=(x-2)(x+2)(x-3)
2=(x-2)(x+2)(x—-4)(x+4)

3=(x+4)(x*—4x+16)

d=[r=-16] d=[m=0]

| 2=[r=-2] | 2=[m=0] ~ 4=(x=5)(x+5)(x*+25)
A= o=l | T == L1 T o3 (- 1) (x-6)
4=[r=-2] A4=[m=-9] b=(x+2)(x+1) (X +x+2)
7=(x-3)(5x+1)(3x-5)
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LE=(x+2)(x+1)(3x+5)(5x+2)]
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A=(x-2)(x+2)(x+1)
2=(x=3)(x+3)(x=5)(x+5)
3=(x-4)(x*+4x+16)

d=(x-1)(x+1)(x*+1)
S=(x-D(x-2)(x*=5x+2) |
4=[m=-5] G6=(x+2)(x=1)(x=2)(x=5)

J=(x+2)(2x-5)(4x+3)
L 8=(x+2)(x—1)(2x=5)(4x+1)]
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A=[r=17]

| 2=[r=75]
Ansl = 3=[r=-5]]
A4=[r=-6]
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A=[r=5]

| 2=[r=1]
Ansl = 3=[r=3]f
A4=[r=-5]

Ans2 =

An

s2 =

d=[m=9]
2=[m=0]

3=[m=1{6,7}][
4=[m=3]

d=[m=-4]
2=[m=1]
“13=[m=1{-1,5}]/
4=[m=-13]

Ans3 =

Ans3 =

A=(x-4)(x+4)(x-5)
2=(x-3)(x+3)(x—4)(x+4)
3=(x+1)(xX*=x+1)
4=(x—-4)(x+4) (X +16)
S=(x=-2)(x=3)(xX*-2x+2)
O=(x+3)(x+2)(x+1)(x-3)
J=(x=3)(4x-5)(2x+1)

L8=(x+1)(x—-1)(5x—-4)(4x-3)]

A=(x-4)(x+4)(x+2)
2=(x-1)(x+1)(x=2)(x+2)
3=(x-5)(x*+5x+25)
d=(x-1)(x+1)(x*+1)
S=(x+2)(x+1) (¥ =x+2)
6=(x+4)(x+3)(x+1)(x=2)
J=(x+1)(5x+4)(2x-5)

LE8=(x+1)(x—=1)(5x-1)(3x—4)]
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T=(x+2)3x+4)(5x+2)
LE=(x—1)(x+3)(2x—-5)(3x+1)]

:D

J=(x—=2)(x+2)(x-3) M

2=(x-1)(x+1)(x-3)(x+3) a

d=[r=4] d=[m=-2] 3=(x-2)(X"+2x+4) t
|.2=[r=1] | 2=[m=0] _ A=(x-1D(x+1)(x*+1) h
IR s=r=a1) M == 01 T soen - (Pmdxe2) || @
4=[r=1] 4=[m=28] 6=(x+3)(x+1)(x=2)(x=3) M
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J=(x-3)(5x+1)(2x-5)
LE8=(x+3)(x+1)(5x+1)(3x+4)]

:D

A=(x-5)(x+5)(x—-2) M

2=(x-1)(x+1)(x=2)(x+2) u

d=[r=15] d=[m=-5] 3=(x+4)(xX*—4x+16) t
|2=[r=-11] | 2=[m=5] B 4=(x=-3)(x+3)(x*+9) h
AnsE= s =11 b A5 s tm= 17,3000 0T oo e ) - D (x-2) | Cl@
A4=[r=-1] 4=[m=-6] 6=(x+2)(x=3) (X" +3x+1) M
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A=[r=9]

| .2=[r=8]
Ansl = 3=[r=2]

A4=[r=-2]

Ans

Ans2 =

2_

A=[m=0]

2=[m=0]

3=[m=-12] |
A4=[m=1{56}]

d=[m=-16]
2=[m=5]
“13=[m=1{-6,1}1/
4=[m=15]

Ans3 =

I=(x-4)(x+4)(x-1)
2=(x-1)(x+1)(x—=2)(x+2)
3=(x+3)(x*-3x+9)
4=(x=3)(x+3)(x*+9)
S=(x+2)(x+1) (¥ =x+1)
6=(x+2)Y(x-1)(x—4)
J=(x-2)(2x-1)(5x-6)

Ans3 =

LE=(x+1)(x—-1)(2x-5)(5x+3)._

A=(x-3)(x+3)(x+5)
2=(x=2)(x+2)(x—4)(x+4)
3=(x-2)(x*+2x+4)
d=(x=2)(x+2)(x*+4)
S=(x-1)(x=3)(+5x+1)
6=(x+4)(x+3)(x+1)(x=5)
T=(x-2)4x+3)(5x+3)

| 8=(x—1)(x=2)(4x-3)(3x+5).
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A=[r=2]

_|-2=[r=10]
Ansl 3=[r=6] | Ans2

A=[r=4]

d=[r=3] d=[m=3]
|.2=[r=20] | 2=[m=0]

Anst=l 5 1o s1p A2 3o m= (7,30 )
A=[r="7] A4=[m=-4]

d=[m=0]
| 2=[m=-3]
1 3=[m=1{-56}1
A=[m=12]

Ans3 =

I=(x=-3)(x+3)(x=2)
2=(x-4)(x+4)(x-5)(x+5)
3=(x—4)(x*+4x+16)
A=(x=2)(x+2) (¥ +4)
S=(x+3)(x+1)(x—4)(x=5)
6=(x+2)(x+1)(¥*=5x+1)
TJ=(x+1)(3x-5)(3x+2)

LE=(x+2)(x—-1)(4x-3)(3x+5)]

A=(x-2)(x+2)(x+4)
2=x-1)(x+1)(x=3)(x+3)
3=(x=5)(x*+5x+25)
4=(x=5)(x+5)(x"+25)
S=(x+2)(x+1)(x—=3)(x—06)
b=(x+1)(x=2)(x**-3x+1)
J=(x+3)4x+5)(2x+1)

L 8=(x+3)Y(3x-2)(5x+2) |
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=[r=-9]
[r=19]
[r=5]7
[r=-4]

Ansl =

i
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A=[r=-13]

| .2=[r=17]
Ansl = 3=[r=3]
A=[r=-1]

X [Page = 0031]

Ans2 =

I=[m=0]

2=[m=-2]
3=[m=1{-6,-411f

4=[m=18]

d=[m=-8]
2=[m=-5]
3 [m=-12]

m=1{1,2}]

H

b

Ans3 =

Ans3 =

L8=(x+2)(x—2)(3x—-4)(2x—-1)]

A=(x=5)(x+5)(x+2)
2=(x-2)(x+2)(x—-4)(x+4)
3=(x+2)(xX*=2x+4)
4=(x=2)(x+2)(xX*+4)
S=(x+2)(x-1)(x*-x+2)
O=(x+6)(x-1)(x=-2)(x-95)
T=(x+2)(2x+5)(5x+3)

A=(x-1)(x+1)(x—-4)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x+5)(x*=5x+25)
d=(x-1)(x+1)(x*+1)
S=x+2)(x+1)(x—4)(x—-5)
b=(x+3)(x=1) (X" +x+2)

J=(x+2)(3x-2)(3x-1)

L8=(x—-2)(x+1)(2x—-1)(5x—1)]
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A=[r=2]
|.2=[r=-7]
Ansl = 3=[r=3]f
4=[r=4]

A=[r=9] A =[m=4]
|.2=[r=5] | 2=[m=15] B
Ansl = 3=[r=2]! Ans2 = 3=[m=-12] | Ans3 =

4=[r=2] A=[m=1{-3,5}]

d=[m=-2]
2=[m=2]

3=[m=1{-6,5}][
A=[m=2]

Ans2 = Ans3 =

LE=(x+3)(x—-2)(5x+1)(2x+1)]

d=(x-3)(x+3)(x=2)
2=(x-1)(x+1)(x-2)(x+2)
3=(x+2)(xX*=2x+4)
d=(x—4)(x+4)(x*+16)
S=(x+1)(x=3) (X +2x+2)
O=(x+5)(x+1)(x-3)(x—4)
J=(x+2)(4x+3)(3x-2)

IG%QEC@}NQEG

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KX KKK KKK KKK KKK KKXKKKME /2-6400104-00064XX

A=(x-3)(x+3)(x+1)
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S=(x-2)(x=-3)(xX"-4x+1)
6=(x+6)(x+5)(x+2)(x+1)
J=(x-3)2x+5)(3x-2)

SNCEX®s~23 X

| 8=(x+3)(x+1)(2x=3)(5x+4)]
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